
CSE 378 Section 1 

 

Review of number systems 

 378.04 = 3 x 102 + 7 x 101 + 8 x 100 + 0 x 10-1 + 4 x 10-2. 

 0010 10102 = 4210. 

0+0 = 0 1+0 = 0+1 = 1 1+1 = 0 1 

    1010     1101 
  + 0011   - 0111 
    1101     0110 

10112 = 1 x 23 + 0 x 22 + 1 x 21 + 1 x 20 = 1110 
1010102 = 1 x 25 + 0 x 24 + 1 x 23 + 0 x 22 + 1 x 21 + 0 x 20 

10.1012 = 1 x 21 + 0 x 20 + 1 x 2-1 + 0 x 2-2 + 1 x 2-3 = 2.62510 

44 / 2 = 22 remainder 0 LSB 
22 / 2 = 11 remainder 0 
11 / 2 = 5 remainder 1 
5 / 2 = 2 remainder 1 
2 / 2 = 1 remainder 0 
1 / 2 = 0 remainder 1 MSB read this way 



101100 

 

100111100012  

010 | 011 | 110 | 001 = 23618  0100 | 1111 | 0001 = 4F116 

0000 0 0       1000  8 8 
0001 1 1       1001  9 9 
0010 2 2       1010 10 A 
0011 3 3       1011 11 B 
0100 4 4       1100 12 C 
0101 5 5       1101 13 D 
0110 6 6       1110 14 E 
0111 7 7       1111 15 F 

Negative numbers 
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 0100 
                 + 1101 

                   0001  = 110. 

Overflow 

… 1001 
                       + 1010 

                         0011  = 310. 

Sign-extension 
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Number Ranges 
�
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 –215  215-1, i.e. -32768 … 32767. 
 


